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3.24.2 German Paper 2 (502/2)

SECTION I: Grammar !"# $%&'()

A Form correct sentences using the words given in the present tense. 
EXAMPLE*  +, -%$./&0 1 234% 1 (5+6 785+ 9%:&5, 1 83:,5,
          !"#$ %"&'( )*+( ,%*+ -$&.*' +' /$012.34

;< =/>:(6%.+5&5, 1  $5+,5 '?5+,5 2>:85(65& 1 @5, 26&%A5,,%$5,
 

"< %,:%?65, 1 %$ 9%'3.(B?%67 1 @5& =/(

C< ?5(5, 1  @/ 1 8%&/$D 1 @%(  26&%A5,(>:+?@ 1 (3 05,%/

B  Rewrite the following sentences in the perfect tense.

EXAMPLE*  E+5 2>:F?5& B&G(5,6+5&5, 5+, H:5%65&(6F>'
   Die Schüler  haben ein Theaterstück präsentiert

I< J56&% '5,,6 @%( H:5%65&(6F>'<
 

K< L+& 05.5, 5+, .+((>:5, M5?@ NF& @+5  J&G(5,6%6+3, %/(<

6. Jeder bleibt bis zum Ende.

 

C Combine the two sentences using “denn”, “deshalb” or “trotzdem”. 

EXAMPLE*  OP5&+ $Q>:65 (+>: 5+, R/63 '%/N5,< 2+5 (B%&6 S5+A+0 M5?@<
OP5&+ $Q>:65 (+>: 5+, R/63 '%/N5,< Deshalb )5$.( )+* 6*+7+3 8*9:.

T< U6+5,3 05:6 +,( V+,3< W&  :%6 (5+,5 -%/(%/N0%.5, N5&6+0 05$%>:6<

X< E%( L5665& +(6 (>:?5>:6< L+& 05:5, (>:8+$$5,<

D Combine the two sentences using “während”, “weil” or “obwohl”.

EXAMPLE*  W& .55+?6 (+>:< W& 8+?? BF,'6?+>: %,'3$$5,<
Er beeilt sich, weil er  pünktlich ankommen will.

Y< V+B&3B 8%& +, 2B%,+5,< W& :%6 Z%&+% '5,,5, 05?5&,6<

;#< [/>\ :%6 :%&6 6&%+,+5&6< [/>\ :%6 @5, L566'%$BN 0583,,5,<

;;< W& .5(/>:6 @%( V3,75&6< W& $%0 '5+,5 '?%((+(>:5 Z/(+'<

E Complete the following sentences using the appropriate preposition and correct case.
EXAMPLE*  ]>: 0?%/.5^ 8+& $F((5,  P5676 7/&F>' __<< -365? 05:5,<

   ]>: 0?%/.5^ 8+& $F((5,  P5676 7/&F>'   ,20  -365? 05:5,<

;"< ]>: (+675 @5, 0%,75, H%0 ___ 2>:&5+.6+(>:<
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;C< R?( 8+&  _<< 785+ 9%:&5, :+5& 8%&5,^ 0%. 5( :+5& ,3>: '5+,5 V+&>:5<

;I< L+& (+,@ (>:3, __< (5>:( 9%:&5, `5&:5+&%656<

;K< W& 0+,0 __ /,65, /,@ QNN,565 @+5 HF&<

;a< Z%(%+ Z%&% +(6 5+,5 R66&%'6+3, NF& H3/&+(65, __ %??5& L5?6<

F Complete the following sentences with an  !"! # $% phrase.

EXAMPLE*  =?5+. @3>: ,3>: 568%( ?G,05&b 1 ]>: :%.5 ?5+@5& '5+,5 c5+6^ <<<<<<<
          ]>: :%.5 ?5+@5& '5+,5 c5+6^ 568%( ?G,05&  ,2 bleiben.

;T< L%,, (5:5, 8+& /,( 8+5@5&D d ]>: :3NN5^ @+>: .%?@ <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

;X< O+$$(6 @/ @+5 2%>:5, $+6D d ]>: @5,'5 @%&%,^ @+5 2%>:5, <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

;Y< 2B+5?(6 @/ ,3>: H5,,+(D d O5+,^ +>: :%.5 %/N05:Q&6^ <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

G Complete the following sentences using the correct past tense form of the given verb.
EXAMPLE*  J?Q67?+>: (%: +>: @%( V+,@ %/N @5& 26&%A5 /,@ _%/N @+5 =&5$(5<!6&565,)

    J?Q67?+>: (%: +>: @%( V+,@ %/N @5& 26&%A5 /,@  trat auf die Bremse.

"#< M5(65&,  _____ @+5 23,,5 @5, 0%,75, H%0< !(>:5+,5,)

";< ]>: ____<< _78%& @5, V3BN^ (%: @+>: %.5& ,+>:6< !:5.5,)

""< L+& _____ ?56765( 9%:& +, @5, 23$$5&N5&+5, ,%>: ]6%?+5,< !N%:&5,)

"C< _____<@/^ @%(( J565&( e&5/,@+,  J56&% :5+f6D !8+((5,)

H Use an appropriate preposition that combines with the main verb  in the sentence.
EXAMPLE*  W( :%,@5?6 (+>: __< 5+,5 8+>:6+05 2%>:5<

   Es handelt sich um  5+,5 8+>:6+05 2%>:5<

"I< E%( =/>: .5(65:6 __< $5:&5&5, H5+?5,<

"K< e&G/?5+, V?5+, :%6 $+& `+5? __<< @+& 5&7G:?6<

"a< -%(6 @/ (>:3, $+6 @5$ E+&5'63& __< @5, J&5+( 05(B&3>:5, D

"T< E+5(5 =?/(5 B%(6 (5:& 0/6  __ @5$ .?%/5, g3>'<

"X< L5,, +>: 568%( N%?(>: 05$%>:6 :%.5^ .+665 +>: @+>: __< h5&75+:/,0<

I Use an appropriate form of the subjunctive II to complete the following sentences.
EXAMPLE*  ]>: 8F,(>:65^ +>: __<< ,+>:6 (3 ,5&`Q(b
  Ich wünschte, ich wäre  ,+>:6 (3 ,5&`Q(b

"Y< LF&@5(6 @/ %&$5, Z5,(>:5, :5?N5,^ 85,, @/ `+5? M5?@  _____ D
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C#< M366 (5+ E%,'^ 5& :%6 ,3>: %,05&/N5,b L%( 8G&5 B%((+5&6^ 85,, 5& ,+>:6 %,05&/N5,_____D

C;< -3NN5,6?+>: '3$$5, (+5 %/>:<  W( 8G&5 B&+$%^ 85,, (+5 %/>: __<<<<__________<

- Complete the following sentences with an appropriate relative pronoun 
with or without a preposition .
 
EXAMPLE*   W& 83:,6 +, @5$ -%/(^ ___ @/ @3&6 %$ W,@5 @5& 26&%f5 (+5:(6<

            Er wohnt in dem Haus, das  @/ @3&6 %$ W,@5 @5& 26&%f5 (+5:(6<

C"< E5, -5&&,^ __<<    _<< +>: 05&%@5 05(B&3>:5, :%.5^ '5,,(6 @/ (+>:5& %/>:<

CC< E+5(5& g3$%, 5&7G:?6 @+5 M5(>:+>:65 5+,5& e&%/^ __<< [5.5, 5+, =5+(B+5? NF& %??5 +(6<

CI< E+5 [5/65^ ___<     __<< +>: 83:,5^ (+,@ 7/& c5+6 `5&&5+(6<

CK< E%( +(6 @5& 9/,05^ __ h%65& E+&5'63& +(6<

Ca< E5& Z%,65?^ __<<  +>: 05'%/N6 :%.5^ 8%& ,+>:6 (3 (>:85&<

K !"##$% &"%  '#((%'& )%(* +(#, &"% +#--#./01 )%(*$ 203 4--  /0 /&$ '#((%'& +#(, 
sitzen/setzen, stehen/stellen, liegen/legen, hängen, stecken

EXAMPLE:  e&%/ OP3&305 _____@%( V+,@ %/N @5, 26/:?<
          e&%/ OP3&305 )*(,( das Kind auf den Stuhl.

CT< E+5 c5+6/,0___<<<<<<<<<<<<<<<<<<<<<<%/N @5$ H+(>:<

CX< E5, Z%,65?______< <<<<<<<<+>: +, @5, V?5+@5&(>:&%,'<

CY< E5& 2>:?F((5? _______ +$ 2>:?3((<

I#< Z/5,+_________<<<  @+5 Z+?>: +, @5, VF:?(>:&%,'<
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 Now answer the following questions in the spaces provided.

;< L%&/$ 8+&@ P5$%,@ +, @5& 2>:/?5 05$3..6D O5,,5 785+ M&F,@5b  !; $%&')

"< =5(>:&5+.5 @+5 Z3..+,01H5,@5,7 %, @5/6(>:5, 2>:/?5,<  !" $%&'()

3< L+5 85&@5, 2>:F?5& 05$3..6D  !" $%&'()

I< L+5 &5%0+5&5, @+5 UBN5& `3, Z3..+,0D  !; $%&')

K< !%) L3 0+.6 5( 5+, J&30&%$$ 0505, M58%?6 +, @5& 2>:/?5D  !; $%&')

 !.)  L+5 :5+f6 @%( J&3P5'6D  !; $%&')

a< L%( :%6 J&3N5((3& E%, U?85/( N5(605(65??6D  .!; $%&')

T< L%&/$ +(6 5( 8+>:6+0^ +$ 2B3&6/,65&&+>:6 &+>:6+05( e%??5, 7/ F.5,D  !; $%&')

X< L%( &%65, @+5 WiB5&65, @5, 2>:F?5&,D !; $%&')



230



231

 Now answer the following questions in the spaces provided.

;< L%( NF& M5&G/(>:5 :%6 @5& 9/,05 +$$5& ,%>:6( 05:Q&6^ 85,, 5& %??5+, 7/ -%/(5 8%&D   
 Nenne zwei. !; $%&')

"< L3`3& :%6 (+>: @5& 9/,05 05NF&>:656D  !; $%&')

3. Nenne ,%*+ E+,05 %/( @5$ H5i6^ @+5 +$ 2>:?%N7+$$5& @5( 9/,05, standen<  !; $%&')

I< L+5 &5%0+5&5, @+5 W?65&, %/N @+5 j,0(65 @5( 9/,05,D  !; $%&')

K< L5?>:5 M5@%,'5, :%665 @5& 9/,05^ %?( 5( (>:5??65D O5,,5 785+< !" $%&'()

a< L+5 '%$ 5(^ @%(( @+5 (>:Q,5, R/(05:'?5+@5& @5& W?65&, ,%(( `3$ =?/$5,8%((5& 8%&5,D 

!" $%&'()

T< M%. 5( @5, O%>:6`305? 8+&'?+>:D =50&F,@5 @5+,5 R,683&6< !; $%&')


